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*Continuar a seqliéncia do lado esquerdo da mesma maneira que o lado direito

oo o
++++++++

G0

0g0
S R

Qa0

o
X

7|§ = 3 pa fech. juntos

W = 3 pa no mesmo ponto

{{B = 4 pa no mesmo ponto




Grafico 2 Gréafico 3:

@ m
| ﬁﬁ@ 1 @@3 + ,&\“J:éi‘ii H}};{{%@
P m®m m™ QL 0H
B ® 8 6 & Sp. I
7

AT AT
TR G %, B AL

TTTTTTTTTTTT 8 B’

=) }\ = ponto baixissimo
TTTTTTTTTTTTTTTTTTTTTTTyffff&?f&&f/;»f B 2 T
T T W s o e e P
/b/;;?\ /}/55?\ )?}52\/2\/2/‘2, :— ponto alto
f/}%}?}}}}b}b ﬂ-B 4 pa no mesmo ponto
/?‘/.2\/5?\ 0y = picd



